FRIOFE(FEMRIOFIAKRKR) BAFETAOREIRTER)

SEHE 3K MEZDE = (_LIRIE) R i
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
?i,f HETREAFME | 880 0 4 9 279 581 7 0 0 109
X | FERRIEME | 41 0 0 0 0 0 18 22 1 17
it 921 0 4 9 279 581 25 22 1 126

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FEMRIOFSAKRKR) BAHETADOREIRTER)

K3 ME DI (_EIRIE) BB
it LRk 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
o EIREHEMEBL | 1217 0 14 17 366 811 9 0 0 206
?\: KR RFME| 70 0 0 0 0 0 25 41 4 31
it 1,287 0 14 17 366 811 34 41 4 237

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FEMRIOFOAKRKR) BAHETANOREIRT(ER)

SEHE{H4 ME DB = (_EIRE) BB
it H»E 0 0 0 0 0 0 0 0 0 0
% REE 0 0 0 0 0 0 0 0 0 0
| EEadEER| o 0 0 0 0 0 0 0 0 0
| METRESIEEMEEY | 1671 0 21 25 461 1,147 17 0 0 325
?\: Pl RETME | 96 0 0 0 0 4 31 57 4 41
&t 1,767 0 21 25 461 1,151 48 57 4 366

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FEMRIOFTAKRKR) BAHETANOREIRTER)

SEHE 4 %5 ME = DB = (_LIRIE) BB
it H»E 0 0 0 0 0 0 0 0 0 0
% REE 0 0 0 0 0 0 0 0 0 0
mEpEER"| o 0 0 0 0 0 0 0 0 0
| METREFEEE | 2310 0 27 39 611 1,609 24 0 0 482
?\: Pl RITME | 121 0 0 0 0 5 37 75 4 54
it 2,431 0 27 39 611 1614 61 75 4 536

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FEMIOFEAKRKR) BAHMHTANOREIRTER)

SEHE 3K ME LD =1(_LIRIE) BIE i E
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
?i,f METRENGFME | 3,025 0 37 49 717 2,189 33 0 0 676
X | RRRITEMEBY | 169 0 0 0 0 6 51 108 4 75
it 3,194 0 37 49 717 2,195 84 108 4 751

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FEMRIOFIAKRKR) BAHETADOREIRTER)

K HEMFE MEZDE = (_LIRIE) BAEMMAEE
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
%_? MELRENFFEME | 3,799 0 54 57 854 2781 53 0 0 877
R | BRRRITEME | 219 0 0 0 0 7 57 151 4 102
H 4,018 0 54 57 854 2,788 110 151 4 979

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFRE(FEMIOFI0AKKR) BEFMAXNORMEIRR(EH)

K3 MEZDE = (_LIRIE) BB
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
%i METREIEFMAEY | 4373 0 65 86 949 3210 63 0 0 1,025
X | RRRITMEY | 295 0 0 0 2 17 62 209 5 146
it 4,668 0 65 86 951 3227 125 209 5 1,171

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFRE(FEMIOF11AKXRKR) BEFMATNORMEIRREHE)

K3 MEZDE = (_LIRIE) BB
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
%i METRENFFMEL | 4,697 4 70 96 1,012 3446 69 0 0 1,103
R | RIRRITMB | 324 0 0 0 2 17 67 232 6 162
it 5,021 4 70 96 1,014 3463 136 232 6 1,265

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFRE(FEMIOF12AKKR) BEFMANORREIRR(EH)

K3 MEZDE = (_LIRIE) BB
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
%i METRENFFMEY | 4,974 6 75 102 1,070 3645 76 0 0 1,165
R | RRRITME | 344 0 0 0 2 18 71 247 6 171
it 5318 6 75 102 1,072 3663 147 247 6 1,336

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(CERINIFIARKR) BAEETAOREIRTER)

SEHE{H4 ME DB = (_EIRE) BB
it H»E 0 0 0 0 0 0 0 0 0 0
% REE 0 0 0 0 0 0 0 0 0 0
mEpEER"| o 0 0 0 0 0 0 0 0 0
| HETREJISEMEE | 5,251 6 77 114 1,117 3,848 89 0 0 1,241
?\: il RETME | 376 0 0 0 2 18 79 271 6 193
&t 5,627 6 77 114 1,119 3,866 168 271 6 1,434

MKARIE, FRIIEEICRESTMEAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(ERINF2ARKR) BAHETAOREIRTER)

SEHE 3K ME LD =1(_LIRIE) BIE i E
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
?i,f METRENFME | 5723 6 85 128 1212 4,193 99 0 0 1,356
R | RRRITMEY | 426 0 0 0 2 20 87 311 6 220
&t 6,149 6 85 128 1214 4213 186 311 6 1576

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




FRIOFE(FERINFIARKR) BAHETAOREIRTER)

K3 MELDE = (_EIRIE) BB
it L) 0 0 0 0 0 0 0 0 0 0
% R 0 0 0 0 0 0 0 0 0 0
1 | mEmaERR| o 0 0 0 0 0 0 0 0 0
?g MET&EEFMEL | 7,708 6 100 173 1,614 5662 152 1 0 1,919
R | RIREITME | 504 0 0 0 2 33 119 343 7 244
it 8,212 6 100 173 1616 5,695 271 344 7 2,163

MARIE, FRIOFEEICHRESTMAXEZERLEIERIN>D. BNZEETLELD,




